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. A real number x 1s such that the sum
of the number and four times its square AL RS
is the least. What is that number ?

(a) — 0-625
2 _ Q ]
By, 0125 w =0 ( Quadrafrec ezn) (ax tbhyte ;0)
(c) 0125 0 ' ] f
Mm. Vafue of he ex/)vwfﬂm wif| tome 47,
d 1
1= =b - -1 . _ 1 — =025
' 2% &
(0R)
(¢) -
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. A real number x is such that the sum
of the number and four times its square AL
is the least. What is that number ?
(a) —0-625
(b) —=0-125
(c) 0-125

(d) 1

Ans: B
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Let £ be a positive integer. What is
the quotient when
xBk+3 L 8Bk+6 4 ,Bk+9 4 8Kk+I2

is divided by (1 +x3)(1 + x5) ?

PYQ-2024-1I

(a) xSﬁ:

(b) x%*1 18k+3( | + 13) + %ek”(h‘ 17

(c) xBk+2
(’/M’)%mg(” ’6)

(d) xEk+3
(I-f-xé)(l'l‘z ) 8k +3
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Let £ be a positive integer. What is
the quotient when
xBk+3 L 8Bk+6 4 ,Bk+9 4 8Kk+I2

is divided by (1 +x°)(1 +x5) ?

PYQ-2024-1I

(a) xSk
(b) .1‘8 k+1
(C) x8k+2

(d) x8k+3

Ans: D
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If PYQ-2024-1I

! (Rt (Rl _ (MR H] )
e () (w Wit ( i

zZx v
and x +z # 2y, then what is.xyzeial dz A1 / LA %J /
to?
2 Cwert_
@ -3 _ 12+~ 142 o B (A M WIS
J V)
. ¥
© 1
x"&!z—r'x #Frr-y = Ak +f -
o g = o

IUZ + vzz-—- Jx’dx = a?d -21-Z
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z’Ux#vzl—-o?x’dZ = a?o'-x-z
xdz('lu—o?) = —/(-—-zwx Tz)
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PYQ - 2024 - I

e e3)
y+—|—|z+—
ZXx Xy
and x +z # 2y, then what is xyz equal

to?
(a) -3
(b) -1

© 1

(d 3

Ans: B
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If x> + px% + gx + r is an integer for all

integral values of x, then consider the PYQ-2024 -1
following statements :

I. p must be an integer 15 + /;x" .’._Zx ¥ Y

- B Loy oLc=
II. ¢ must be an integer f g / 2
= ' /Jx oIl
II. » must be an integer ( _
T
Which of the statements given above = [/ r
: \ J Uhiéfey
is/are correct ? ? 1 ol 6( /
; P™ %
(@) Iand II only Z -/ m'hder d
x

(b) III only

() I II and III

(d) None of the statements is correct
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If x> + px% + gx + r is an integer for all
integral values of x, then consider the
following statements :

PYQ - 2024 - I

I. p must be an integer
II. ¢ must be an integer
II. » must be an integer

Which of the statements given above
is/are correct ?

(2) Iand II only
(b) III only
(¢) I II and III

(d) None of the statements is correct Ans: D
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If the sum and product of the roots of a

: PYQ -2024 -1
quadratic equation are 2 and -100 Q-20
respectively, then which one of the following is

correct ?

(a) There are infinitely many such
equations having different roots.

(b) There is only one such equation which is
x2 + 2x — 100 = 0.

| 2
(¢) There is only one such equation which is L — ( of "'ﬁ) X + o P =0
x? - 2x — 100 = 0.

(d) There is no such equation.
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If the sum and product of the roots of a

: -2024 -
quadratic equation are 2 and -100 PYQ - 2024 - |
respectively, then which one of the following is

correct ?

(a) There are infinitely many such
equations having different roots.

(b) There is only one such equation which is
x2 + 2x — 100 = 0.

(¢) There is only one such equation which is
x2 - 2x — 100 = 0.

(d) There is no such equation.

Ans: C
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If 2 is a zero of the polynomial

p(x) = x% + 3x? — 6x — a, then what is the sum

of the squares of the other zeros of the

polynomial ?
(a) -10 f(Z) =0
(b) 17 0?3 .f- 3(2)2 - é(z) - Q
) 21
b+ 13-/ -a -
d) 37
a-§

/DCX) = ls-l'glL,gx._g
= (1—27(_221‘ b1 1y

PYQ - 2024 -1

1450+ 4
22+ 32t — ¢y -8
0 —ox?

)

bx?2 -61
St~y
‘ Hy - ¢
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If 2 is a zero of the polynomial
3 9 ) PYQ-2024 -1
p(x) = x° + 3x“ — 6x — a, then what is the sum

of the squares of the other zeros of the

polynomial ?
(a) '10
(b) 17
) 21
(d) 37

Ans: B
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Suppose p(x) = x* + 3333 + azxg +a;x + a, and

PYQ -2024 - |
q(x) = x* + h3x3 + b2x2 + byx + b, are the
polynomials. If «, B, v, 8 are zeros of p(x) and

o, B, v, A are zeros of q(x), then what is

(x-ci})(?;_—clig}z—?) equal to? (x-q)(x-f)( “() X- J) (l o( (1 ﬂ (l )(
b A-3 (z-4) (x ./3)(1—{)

(a) —-A+9d

() A+d

d -1-3 = £1—%)(1—f)(x-0 [Z—-f - (X—ﬂy
(7“’0‘)(1—,9)(1—1/)

(Factor hovem)
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4 3 2

Suppose p(x) = Xx* + agx° + a,x“ + a,x + a, and

PYQ -2024 -1
q(x) = x* + h3x3 + b2x2 + byx + b, are the
polynomials. If «, B, v, 8 are zeros of p(x) and

o, B, v, A are zeros of q(x), then what is

(x — j}(i__ Eg}z ) equal to ?
(@) —-A+3d

(b) A-9

() A+9d

(d -i-38

Ans: B
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2

If the equation x cos 8 = x* + p has a real

PYQ -2024 - |
solution for every 6 where 0 < 6 < E, then
which one of the following is correct ?
(a) =1/8 o
Vo teosy = 1+ p (osai_ﬂ_)
(b) p=<1/8 l/
(c) p=21/8 l’-__ %000 +f @izo’ = /
L ) 2
= (—CDM)L - ‘4‘)”7% llf A C0¢"0 (U)

= oo - dp p < -" (vs')

o - 3 <) (2 d)
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2

If the equation x cos 8 = x* + p has a real

PYQ-2024 -1
solution for every 0 where 0 £ 0 < E, then

which one of the following is correct ?

(a) p=1/8
(b) p<1/8
() p=z21/8
(d p< 1f4|

Ans: B
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If p= #(ah/aﬂ +"b3'J+:€l[a—1/az +b3] PYQ - 2024 - |

then what is p3 + 3bp equal to ?
() -2a b=0 ; Q=]

(b) a

() 2a /97-3\//_,_/ 7 i["/
(d) a I ,

3 f:?oz fgfgéf:‘?f‘g(o)
(6)9-""/ - 3

E——

(a) -2
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If p= #(aﬁ/aﬂ +"b3'J+:%}(a—1/az +b3] PYQ - 2024 - |

then what is p3 + 3bp equal to ?

(a) -2a
(b) a

() 2a
(d) 3a

Ans: C
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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of

1 1 1
+ +
l+a b+1 1+c

(a) abc (b)y a*b*c* (o) 1 (d O

at+a = a+b+ ¢

a(a+))

[+a

a+bte

[+b = G+bhte f I+¢
b

V)

0tbte
a

1L}

a+ bt
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A+ L+ L
[+a [+} [+¢
d -+ 6 "' - c' -
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Q)lfa?=b+c, b*=c+a,c*=a+ b, then the value of

1 1 1
+ +

l+a b+1 1+c
(a) abc (b)y a*b*c* (o) 1 (d O

Ans: (c)
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Q)Ifx+y+z=11.x°+y° +z2=133and x° +3°+23 = 881, then

.
the value of A/ XV= 1s:

(@) -6 (b) 6 (c) -8 (d) 8
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Q)Ifx+y+z=11.x°+y° +z2=133and x° +3°+23 = 881, then

3 - :
the value of A/ XV= 1s:

(@) -6 (b) 6 (c) -8 (d) 8

Ans: (a)
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Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
what is o + B> + o + B> + o + B equal to?

(a) 150 (b) 138
(c) 138 () 124



CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q)If o and p are the roots of the equation x* — 6x + 6 = 0,
what is o + B> + o + B> + o + B equal to?

(a) 150 (b) 138
(c) 138 () 124

Ans: (b)
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Q)Ifx1x2x3 =4(4 +x, +x,+x;), then what 1s the value of
[1/(2+x)] +[1/2 +x,)] + [1/(2 +x5)]?

@) 1 b) 12 (c) 2 d) 13
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Q)Ifx1x2x3 =4(4 +x, +x,+x;), then what 1s the value of
[1/(2+x)] +[1/2 +x,)] + [1/(2 +x5)]?

@) 1 b) 12 (c) 2 d 13

Ans: (b)
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QIfP=7+ 4\/5 and PO = 1, then what is the value of
1/P?+1/0%?
(@ 196 (b) 194 () 206 (d) 182
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QIfP=7+ 4\/5 and PO = 1, then what is the value of
1/P?+1/0%?
(@ 196 (b) 194 () 206 (d) 182

Ans: (b)
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Q)Ifx +y+z=0, then what is the value of (3% + x* +2%)/(2)?
—x2)?

@) 2 b) 1 © 32 (@ 53
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Q)Ifx +y+z=0, then what is the value of (3% + x* +2%)/(2)?
—x2)?

@) 2 b) 1 © 32 (@ 53

Ans: (a)
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Q)If a2 + b2 + 2 + 96 = 8(a + b —2¢), then ab—bc+ca is
equal to:

@ 6 (b) 242 ©) 4 @ 2.3
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Q)If a2 + b2 + 2 + 96 = 8(a + b —2¢), then ab—bc+ca is
equal to:

@ 6 (b) 242 ©) 4 @ 2.3

Ans: (c)
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Q)1f \/ SG—GO\E = qa - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72
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Q)1f \/ SG—GO\E = a - b\E , then what will be the value

) .
of \/ a’ +b° , correct to one decimal place?

@ 84  (b) 82 © 78 (@) 72

Ans: (c)
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(@]

EEEEE

Q)Ifx=11.thevalueof x° — I2x*+ 12x° — 12x* + 12x — 1 18

(a) 11 (b) 10 (c) 12 (d) —10
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Q)Ifx=11.thevalueof x° — I2x*+ 12x° — 12x* + 12x — 1 18

(a) 11 (b) 10 (c) 12 (d) —10

Ans: (b)
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1

1 1
Q)If a +E=b+g= C+E (wherea = b =c), then abcisequal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options
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1 1 1
Q)If a +E=b+g= C+g (wherea = b =c), then abc 1sequal to

(@) +1 (b) -1
(c) +l1&-1 (d) None of the options

Ans: (c)
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Q)If x_.3-2=0 and };—\/5+\/§:0 then value of

X —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1
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Q)If x_.3-2=0 and };—\/5+\/§:0 then value of

X —2082)— (37 +242)
@ 3 (b) 2 © 0 d 1

Ans: (c)
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Q)Ifa+ b+ ¢+ d=4then the value of
| . |
(=) (1-b)(1—<) (1-b)(1-c)(1-d)

1 |
(1-o)(1-d)(1-a) (1-d)(1-a)(1-b)

_I_

(a) 0 (b) 1 (c) 4 (d) 1+abed
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Q)Ifa+ b+ ¢+ d=4then the value of
| . |
(=) (1-b)(1—<) (1-b)(1-c)(1-d)

i l
(1_‘3)(1—(31)(1—«21)Jr (1-d)(1-a)(1-b) &

_I_

(a) 0 (b) 1 (c) 4 (d) 1+abed

Ans: (a)
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Q)If (x° —y3) (a2 +;x,j:+y2) =5:1 and

(x* - f) :(x—y)=7:1, then the ratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢) 4:3 (d) 3:2
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Q)If (»° —_]13)  (x? +;Jgf+y2) =5:1 and

(x* - f) :(x—y)=7:1, then the ratio 2x : 3y equals

@ 2:3 (b) 4:1 (¢) 4:3 (d) 3:2

Ans: (b)
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Q)If X, v, z are the three factors of a> — 7a — 6, then value of
x+y+zwillbe

(@) 3a (b) 3 (¢c) 6 (d) a
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Q)If X, v, z are the three factors of a> — 7a — 6, then value of
x+y+zwillbe

(@) 3a (b) 3 (¢c) 6 (d) a

Ans: (a)
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QIf x=a? +a7V2, y= g2 g2

(< =x*y* =D+ —x*y* +1)

, then value of

(@) 16 b) 14 © 12 @ 13
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QIf x=a? +a7V2, y= g2 g2

(< =x*y* =D+ —x*y* +1)

, then value of

(@) 16 b) 14 © 12 @ 13

Ans: (a)
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Q) Ifq + b= 1, find the value of &’ +b° —ab —(a* —b*)*

(@ 0 (b) 1 © -1 @ 2
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Q) Ifq + b= 1, find the value of &’ +b° —ab —(a* —b*)*

(@ 0 (b) 1 © -1 @ 2

Ans: (a)
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Q)If (Bx—-2y):(2x+3y)=5:6, then one of value of

L
%/;_%/; 1S

1 1
@23 O3 @ © 5 @:3




CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q)If (Bx—-2y):(2x+3y)=5:6, then one of value of

L
‘%/;_%/; 1S

1 1
@23 O3 @ © 5 @:3

Ans: (a)
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a—+b 2b b+c

Q)Ifa+b+c=0, find the value of — +

C ct+a d

@ O (b) 1
© -1 (d) 2
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a—+b 2b b+c

Q)Ifa+b+c=0, find the value of — +
C c+t+da d
@ O (b) 1
© -1 (d 2

Ans: (a)
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Q)Ifx’ +1y3 +22=3(1 +xy2), P=y+z—x,0=z+x—yand

R = x + y — z, then what 1s the value of
P’ + O’ + R~ 3POR?
(a) 9 (b) 8 (¢) 12 (d) 6

@i=]
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(@]

EXAMS

Q)Ifx’ +1y3 +22=3(1 +xy2), P=y+z—x,0=z+x—yand

R = x + y — z, then what 1s the value of
P’ + O’ + R~ 3POR?
(a) 9 (b) 8 (¢) 12 (d) 6

Ans: (c)
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Q) Which one is one of the factors of

1 1
Ez+—j+8(}{+—J+14?
X~ X
};'l+1 b x'l+3
(a) X+ (b) x+—
1 1
() X+—+6 (dy x+—+7

X X
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Q) Which one is one of the factors of

X%+ Lﬁ+s(:~;+lj+14 ?
X~ X
(a) };+l+1 (b) }:+l+3
X X
(c) }:+l+6 (d) }:+l+7
X X

Ans: (c)
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Q) Ifx+ — = /3, then the value of x18+x12+x6+11s
X

@ O (b) 1 () 2 d 3
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Q) Ifx+ - = /3 , then the value of x18+x12+x6+11s
@ 0 (b) 1 (©) 2 (d 3

Ans: (a)
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QIf x*+y°+z> =xy+yx+zx, then the value of

3x* + 7y +52°

2 2 2 2 > 5 1S
Sx“y +7Ty"z" +3z°x"

@ 1 (b) 2 © -1 (@ 0
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QIf x*+y°+z> =xy+yx+zx, then the value of

3x* + 7y +52°

2 2 2 2 > 5 1S
Sx“y +7Ty"z" +3z°x"

@ 1 (b) 2 © -1 (@ 0

Ans: (a)
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Q)Ifx*+ —7 =119 amd x > 1, then the value of x> —
X

@) 4 b) 18 © 72 @ 36

1 .
— 18
X3
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Q)Ifx*+ —7 =119 amd x > 1, then the value of x> —
X

@) 4 b) 18 © 72 @ 36

Ans: (d)

1 .
— 18
X3
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2.  The equation 3x — 12y = 7 has no solution 1n
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2
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Q) Consider the following statements :
1  The equation 1990x — 173y = 11 has no solution in
integers for x and y.
2.  The equation 3x — 12y = 7 has no solution 1n
integers for x and y.
Which of the above statements 1s/are correct?

(@) 1 only (b) 2 only
(¢) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then

the value of * + 4 + z will be
a+x b+y c+z

@ atb+tc ®) 3
© 1 @ 0
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Q)Ifa?—by—cz=0, ax—b*+ cz=0and ax + by —c* =0, then

the value of —> + 4 + £ willbe
a+x b+y c+z

(@ a+b+c b) 3

© 1 @ 0

Ans: (c)
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